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QM7R Horizontal Bump Test (2008MAY28)
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0.2
BPM.20 X (meas) VS BPM.20 X (sim)

0

p0=-0.4181+-0.008482
p1= -1.125+-0.01523
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with respect to MAD:
• sign = -1
• scale = 1.125
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BPM.20 X (sim) /mm RMS=0.0604 mmNDF=    2 chisq/N = 15.700rho     = -1.013



0.1
slope ratio = 7.4994
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slope ratio = 1.0000

s]

0
m

m
) [

m
ea

1

m
m

) [
m

ea

-0.2

-0.1

M
.1

9 
ΔX

 (m

0

M
.2

0 
ΔX

 (m

-1 -0.5 0 0.5 1 1.5
-0.3

BPM.19 ΔX (mm) [sim]

B
P

M

-1 -0.5 0 0.5 1 1.5
-1

BPM.20 ΔX (mm) [sim]

B
P

M

2
slope ratio = 1.6932

[m
ea

s]

0 1

0.2
slope ratio = 18.1934

[m
ea

s]
0

1

ΔX
 (m

m
) [

0

0.1

ΔX
 (m

m
) [

1 0 5 0 0 5 1 1 5
-1

0

B
P

M
.2

1 
Δ

1 0 5 0 0 5 1 1 5
-0.2

-0.1
B

P
M

.2
2 

Δ

-1 -0.5 0 0.5 1 1.5
BPM.21 ΔX (mm) [sim]

-1 -0.5 0 0.5 1 1.5
BPM.22 ΔX (mm) [sim]



0.5
ML1X X (meas) VS ML1X X (sim)

0

p0=-0.7224+-  0.14
p1= -1.326+-0.2765

with respect to MAD:
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ML1X X (sim) /mm RMS=0.126 mmNDF=    2 chisq/N = 0.251rho     = -1.016



No QM7R errorsNo QM7R errors



1.5
ML1X vs BPM.20: slope ratio = 1.2056
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2
ML2X vs ML1X: slope ratio = 0.8443
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QM7R gradient error: 0 89QM7R gradient error: 0.89



1.5
ML1X vs BPM.20: slope ratio = 1.0003
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2
ML2X vs ML1X: slope ratio = 0.7436
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